4/8/2014				Notes:
	Number of		Students per	
English	Requests	Course Hours	Section	* Semester Course
English 9	94	4	23.5	
Literacy Foundations	17	1	17.0	
English 10	105	4	26.3	
English 11	102	4	25.5	
Eng 12	76	3	25.3	
AP English	16	1	16.0	
Ind. Study - Early Grad.	4			
	410	17	22.3	
Casial Ctualias	Number of		Students per	
Social Studies	Requests	Course Hours	Section	
US History	109	5	21.8	
AP History	30	1	30.0	
World Geography	100	4	25.0	
Economics*	103	4	25.8	
Civics*	101	4	25.3	
Psychology*	39	2	19.5	
AP Psychology	30	1	30.0	
AP Economics*	20	1	20.0	
	532	22	24.7	
Colonas	Number of		Students per	
Science	Requests	Course Hours	Section	
Physical Science	53	3	17.7	
Biology	110	5	22.0	
A.P. Biology *	34	2	17.0	
Chemistry *	75	3	25.0	
Physics A *	17	1	17.0	
Environmental Science	26	1	26.0	
Anatomy	63	3	21.0	
	378	18	20.8	

	Number of		Students per	
Math	Requests	Course Hours	Section	
Math 1	39	2	19.5	
Math 2	37	2	18.5	
Math 3	35	2	17.5	
Algebra 1	48	2	24.0	
Algebra 2	85	4	21.3	
Geometry	72	3	24.0	
Trigonometry	53	2	26.5	
AP Calculus	17	1	17.0	
Personal Financial Planning *				2 sections included in Business
	386	18	21.0	
	Number of		Students per	
Foreign Language	Requests	Course Hours	Section	
Spanish 1	54	2	27.0	
Spanish 2	58	2	29.0	
Spanish 3	44	2	22.0	
Spanish 4	23	1	23.0	
German 1	23	1	23.0	
German 2	27	1	27.0	
German 3	25	1	25.0	
German 4	8	1	8.0	
	262	11	23.0	
Danaina	Number of		Students per	
Business	Requests	Course Hours	Section	
Accounting 1 *	19	1	19.0	Acct. 1,2,3 combined
Accounting 2 *	6			
Accounting 3 *	1			
Computer Applications*	18	1	18.0	
Personal Financial Planning *	101	5	20.2	
Information Processing *	30	1	30.0	
Global Business *	28	1	28.0	
Management & Entrepreneurship*	15	1	15.0	
IT Essentials *	4			
Yearbook/Marketing	21	2	10.5	
YA		1		
	243	13	20.1	

	Number of		Students per	
Family & Cons. Ed	Requests	Course Hours	Section	
Foods 1 *	29	2	14.5	
Foods 2 *	17	1	17.0	
Foods 3 *	14	1	14.0	
Clothing 1	8	1	8.0	
Adv. Sewing	3			
Family Relations *	8	1	8.0	
Parent and Children *	20	1	20.0	
	99	7	13.6	
Missallansana	Number of		Students per	
Miscellaneous	Requests	Course Hours	Section	
Certified Nursing Assistant	11			
Teacher Aide	57			
Youth Options	6			
Youth Apprenticeship	10			
Study Skills	17	1	17.0	
Alternative Education Block		4		
Alternative Education Drop In		3		
	101	8	17.0	
	Number of		Students per	
Tech Ed.	Requests	Course Hours	Section	
General Woods *	24	2	12.0	
General Metals *	28	2	14.0	
Technical Woods	23	2	11.5	
Technical Metals	14	1	14.0	
Metal Fabrication	15	1	15.0	
Small Engines*	30	2	15.0	
Intro to Engineering	42	2	21.0	
Civil Engineering	22	1	22.0	
Auto Maintenance*	35	2	17.5	
Building Trades	15	1	15.0	
Auto Technology	15	1	15.0	
3D Animation *	24	1	24.0	
School to Work	14	1	14.0	
	301	19	16.2	

	Number of		Students per	
Art	Requests	Course Hours	Section	
Art 1 2D*	21	2	10.5	
Art 1 3D*	18	1	18.0	
Art 2 2D*	21	1	21.0	
Art 2 3D*	13	1	13.0	
Art 3 2D*	12	1	12.0	
Art 3 3D*	9	1	9.0	
Studio Art*	6			Combined with Art 3
Senior Portfolio*	3			Combined with Art 3
Independent Art				
	103	7	13.9	
Disc. Est	Number of		Students per	
Phy Ed	Requests	Course Hours	Section	
Intro to Physical Education*				
Phy Ed 1	108	4	27.0	
Phy Ed 2	108	4	27.0	
Phy Ed 3	123	6	20.5	
	339	14	24.8	
	Number of		Students per	
Health	Requests	Course Hours	Section	
Health*	114	4	28.5	
Advanced Health*	30	1	30.0	
	144	5	29.3	
Music	Number of		Students per	
Music	Requests	Course Hours	Section	
Band	61	1	61.0	
Concert Choir	18	1	18.0	
Chamber Choir	27	1	27.0	
	106	3	35.3	